| RN

I(p PERFORMANCE" SECTOR ANTENNA MOUNTING DIAGRAM p N
ANTENNAS @
\J A= SECTOR ANTENNA i

Na@ENlop)
D ®©
N e el
N
DO O

B
@#ﬁ@

w

iQOO
&

- J

I

RADIO
MIMOSA A5C
CAMBIUM EPMP 1/2/3000
BAICELLS NOVA 233 GEN 2
CAMBIUM PMP450
UBIQUITI

O’l-h(.»)l\)—'o

TOOLS REQUIRED: 1/2" WRENCH/SOCKET
9/16" WRENCH/SOCKET

5/16" FLANGE NUT

UNIVERSAL RADIO BRACKET

UNIVERSAL RADIO BRACKET CLIP

10 LOWER SECTOR BRACKET ASSEMBLY

9 UPPER SECTOR BRACKET ASSEMBLY

6

1

1

1

1

(_ 8 LOWER SECTOR BRACKET 1

TOWER 7 UPPER SECTOR BRACKET 1

6 V-CLAMP TOWER BRACKET 2

5 C-CLAMP TOWER BRACKET 2

4 EYE HOOK 1

Go to

3 3/8" FLANGE NUT 8

Wwwfgfrair:‘e’r;”efgi‘feeacom 2 3/8" X 25MM CARRIAGE BOLT 4

. N . 1 3/8" X 130MM CARRIAGE BOLT 4
LOWER BRACKET ASSEMBLY installlation instructions. NO. DESCRIPTION Qry




